l/:aﬁ The following structures plerced the clavipectoral fascia. Select one
a, Lateral pectoral nerve

b. Cephalic vein

¢. Thoraco acromial vessels

d. Lymphaiics from breast

e, Lymphatics from axilta

ﬁl ) the following muscle innervated by two nerves :
a. Teres major
b. Serratus antertor
¢, Deltoid
d. Trapezius

e. Pectoralis major

a. Serratus anterior
b. Rhomboid major
c. Biceps brachii

d. Levator scapulae

e. Subclavius
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/017) Choose the odd muscle that does not belong to scapular group: Select one
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Answer : C
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'Q46 ) Which of the following bones gives origin to pectoralis major? Select one
a. Humerus

b. Scapula

¢. Radius

d, Clavicle

e. Ulna

éls/wer: D




l/QGO JWhich of the following is attached to the lateral lip of the intertubercular sulcus?
Select one:

a. Teres minor.

b. Teres major.

c. Pectoralis minor.
d. Pectoralis major .

e. Deltoid

Answer: D

\ﬁzSG ) Which of the following bones gives attachment to pectoralis minor? Select one:

a. Humerus

b. Scapula

c. Radius
d. Clavicle
e. Ulna

Answer: B

~/ Q53) Regarding the Scapula. choose the most appropriate statement
Select one:

a. Irregular Bone .

b. Supraspinous fossa in the anterior surface.

c. In the lateral end of its spine is the acromion process.

d. The suprascapular notch on the spine.

e. The superomedial angle articulate with the shoulder joint

Answer: C




|
v/ Q19) The Humerus. choose the correct statement. Select one:

a. The deltoid tuberosity at its medial aspect of the shaft
b. Its head is 2/5 of sphere.
c. The greater tuberosity is lateral than the lesser tuberosity.

d. Ulnar nerve is susceptible to be injured in its middle shaft fracture.
e. Anatomical neck below the greater and lesser tuberositie

Answer: C

/ Q13 )The following muscle innervated by two nerves. Select one:
a. Teres major

b. Serratus anterior

c. Subscapularis

d. Trapezius

e. Rhomboid major O+,

W~ Q15 ) The proximal end of the ulna consists of the following EXCEPT . Select one:

a. The olecranon fossa
b. The trochlear notch

c. Coronoid process

d. The olecranon process
e. The radial notch

Answer: A
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You watch a friend as he is doing pushups
and notice the medial border of his right
scapula protruding from his thorax more than
it protrudes on his left side. Which muscle is
weakened on your friend's right side that is
causing this protrusion?

A. Pectoralis major muscle
B. Serratus anterior muscle
C. Trapezius muscle

D. Triceps brachii muscle @



40) insertion of midle fibers of trapezius?
A) posterior border of lateral half of clavicle
B) medial border of the acromion
C) upper lip of spine of scapula
D) occipital protuberance
E) thoracic vertebrae
Answer: B
41) which of the following does not pierce clavipectoral fascia?
A) thoracoacromial artery
B) nerve to pectoralis major
C) cephalic vein
D) nerve to pectoralis major and minor

E) lymphatic vessels

Answer: D

42) which digitation of serratus anterior does arise from two ribs?
A) first
B) second
C) third
D) fifth
E) last
Answer: A

43) a muscle that arises from a rib and its costal cartilage:

Subclavius



9) the accessory expiration muscle is:
A) Pectoralis major

B) Trapezius

C) Latissmus dorsi

D) pectoralis minor

Answer: C

28) Which muscle arises from the skull?
A) Trapezius

B) pectoralis major

C) latissmus dorsi

Answer: A

29) Which muscle is not inserted in the humerus?
A) pecroralis major

B) latissmus dorsi

C) Rhomboidus major

D) teres major

E) subscapularis

Answer: C
37) Choose the incorrect regarding clavicular head of pectoralis major:

A) Flexion of arm
B) In anterior lamina of pectoralis major

C) Inserted in upper part of lateral lip bicipital groove

Answer: C
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